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JIN:F6356v2

Base: 1,000 Total Gender Age Gender x Age How voted in 2014 Did you vote in Scotland in the 2010 UK Parliamentary Election which led to David Cameron
referendum: Should Scotland becoming Prime Minister? If so, who did you vote for?
be an independent country?
Male Female 16-34 35-54 55+ Male 18- : Male 35- iMale 55+ Female : Female | Female Yes No Did not [Conserva: Labour Liberal SNP UKIP Other Did not Can't :I was not|
34 54 18- 34 35-54 55+ vote tive Democra vote remembe: eligible
ts r to vote
Total 1000 480 520 298 342 360 148 167 165 150 175 195 431 534 35 132 292 77 266 11 15 129 41 37|
(1000)|  (464);  (536)| (275); (354) (371)| (130) (167); (167)i (145) (187)i (204)| (49D)i  (474) (35)| (154); (236)]  (100);  (269) (11 (25)] (119 (44) (42)
100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Which party do you currently think you'll vote for in Base: All respondents 814 392 422 206 280 329 106 138 149 100 142 180 387 419 8 118 267 64 254 10
the 2015 UK general election? to vote (835)| (392) (443)| (196); (299) (340)| (101) (140) (151) _ (95) (159) (189)| (440) _ (386) (9)| (144) (216) _ (85) (260)  (10)
SNP 315 163 152 86 100 129 42 57 282 32 2| 5 48 15 209 0
39%|  42%  36%| 42% _ 36% _ 39%)| _40% _ 41% 73% 8% 18%  23% _ 82% [
Labour 196 98 98 51 74 71 27 37 42 153 164 10! 4 0
24%|  25%  23%| 25%  26% _ 22%|  26% _ 27% 11%;  37% 61%:  16% 2% [
Conservative 107 51 56 15 34 58 11 15 10! 95 5 3 0
13%|  13%  13% 7% 12%;  18%)| 10%  11% 3% 23% 3% 7% 1% [
UKIP 52 29 23 12 23 16 6 15 13 37 11 4 13 8
6% 7% 5% 6% 8% 5% 6%  11% 3% 9% 4% 6% 5% 81%
Liberal Democrats 19 7 13 4 5 10 1 2 3 16 0 15! 1 1
2% 2% 3% 2% 2% 3%)|  <1% 1% <1% 4% 0 2a%  <i% _ 15%
Green 9 3 6| 5 2 1 2 1 0 3 1 1 4 5 1 3 1 0
1% <1% 1% 3% <1% <1% 2% <1% <1% 3% <1% <1% 1% 1% <1% 4% <1% o
Other 5 3 2 4 0 1 3 0 0 1 0 1 4 1 0 1 1 0
<1%|  <1%  <1% 2% <1%;  <1% 3% <1% [ 1% 0 <1% 1% <1% [ 1% <1% [
Don't Know 111 38 74 28 41 42 13 10 14 15 31 27 29 80 35 12! 22 0
14% 10% 17% 14% 15% 13% 12% 7% 10% 15% 22% 15% 8% 19% 13% 18% 9% 4%
Which party do you currently think you'll vote for in | Base: All respondents likely 6 109 B
the 2015 UK general election? (excl. undecided) to vote i i 6)| (131) (9)
SNP 2 5 [
31% 4% [
Labour 1 8 0
12% 8% o
Conservative 2 80 0
31%|  74% 4% 9% 1% [
UKIP 2 14 11 4 13 8
27%. 12% 5% 8% 6% 84%
Liberal Democrats 0| 1 0 15! 1 1
0| . <1% 0 .29%  <1%  16%
Green 0 1 1 3 1 0
o 1% <1% 5% <1% o
Gher 0 [ [} 1 1 [}
[ [ [ 2% . <1% [
Knowing what you know now, if the i e Base: All 1000 480 520 298 342 360 148 167 165 150 175 195 431 534 35 132 292 77 266 11 15 129 41 37
referendum was tomorrow how would you vote? (1000) (464) (536) (275) (354) (371) (130) (167) (167) (145) (187) (204) (491) (474) (35) (154) (236) (100) (269) (11) (25) (119) (44) (42)
Yes 464 233 231 140 162 161 70 90 73 71 72 89 380! 77 7| 13 112 27 224 5 6 45 18 16
46%)|  48%;  44%)| 47%;  47%; _ A45%)| A47%; _ 54%; _44%; 47% _ A41%; _A45%)| 88% _ 14%;  20%)| 10%;  38% _ 34% _ 84% _ 43% _ 38% _ 35% _ 43% _ 41%
No 453 211 242 120 153 180 60 66 84 59 87 96 41 406 6| 114 162 46 35 6 8 59 14/ 10
45% 44% 47% 40% 45% 50% 41% 40% 51% 39% 50% 49% 9% 76% 7% 86% 56% 59% 13% 54% 53% 46% 33% 28%
Don't know 65 23 41 27 23 14| 10 9 4 17 15 10 10! 47 7| 5 18 3 7 0 1 14/ 10! 6|
6% 5% 8% 9% 7% a% 7% 5% 3% 11% 8% 5% 2% 9% 20% 4% 6% a% 3% a% 9%  11%  24%;  15%
Wouldn't vote 19 13 5 11 4 4 8 2 4 3 2 0 0 4 15 0 [ 2 0 [ 0 11 [ 6
2% 3% 1% 4% 1% 1% 5% 1% 2% 2% 1% <1% o <1% 43% o o 2% o o o 9% o 16%
There may be a referendum in 2017 on the UK's Base: All respondents 480 534
membership of the European Union. If there is, which (464) (474)
way do you currently think you would vote? T would vote to STAY IN the EU 213 197
44% 37%
1 would vote to LEAVE the EU 195 211
41% 40%
Don't know 59 120
12% 22%
Wouldn't vote 13 6
3% 1%
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Base: 1,000 Total | Did you vote in Scotland in the 2011 Scottish Parliamentary Election? If so, who did you Which party do you currently think you'll vote for in the 2015 UK general election? Socio-economic Where were you born? Ts the home you live in..
vote for with your constituency vote? grade
Conserva! Labour | Liberal | SNP | Greens | Other | Did not | Can't Not |Conserva! Labour | Liberal | SNP UKIP | Green | Other | Don't | Won't | ABCL | C2DE |Scotland England | All | Owned/] Rented | Rented | Other
tive Democra vote iremembe! eligible | tive Democra Know | vote others | being i froma i from
ts r to vote ts combine | bought } private | local
ona | landlord : authority
Total 1000 110 251 63 360 4 B 145 a1 22 118 216 29 340 70 9 12 178 29 455 545 830 90 80 664 63 245 28]
(1000)|  (128);  (208) (83))  (345) (16) (12);  (135) (43) (30) (140 (177 (36);  (353) (65) (13) (16);  (174) (26) (668)  (332)| (749)i  (154) (97)  (697))  (141)  (143) (19)
100%| 100% 100% 100% 100% 100% 100% 100% 100% _100%| 100% 100% 100% 100% 100% 100% 100% 100% 100%| 100% 100%| 100% 100% 100%| 100% 100% 100%: 100%
Which party do you currently think you'll vote for in | Base: All respondents 814 103 228 57 330 a a 54 23 11 107 196 19 315 B 111 0 73 39 565 a3
the 2015 UK general election? to vote (835)| (121): (187).  (74). (323).  (15).  (12). _ (58).  (28). (A7) (127)) (156)  (25) _(333) (13) (121) (0) (130); _ (55)| (607): _(100)
SNP 3i5 3 27 6 245 1 1 24 5 5 0 [ 0 3i5 0 0. 0 13 6 205 17
39% 3% 12%  10%;  74%; 17%; _17%; __ 44% [ [ 0. _100% [ [ 0 17%:  15%|  36% _ 41%
Labour 196 4 138 8 30 0 0 13 2 1 0 196 0 0 0 0 17 9 124 6
24% 4% 60%  15% 9%  11% 0 23% 8% [ [ [ [ 23%;  23%|  22%
Conservative 107 69 8 9 11 0 0 5 5 0 0 0 0 17 12 86
13%|  67% A% 15% 3% [ [ 9% 19% [ [ [ 0 23%;  30%)| _ 15%
UKIP 52 12 14 4 17 0 2 1 0 0 0 0 0 10 1 34
6%)|  12% 6% 7% 5% 0 50% 2% 2% [ [ [ [ 14% 3% 6%
Liberal Democrats 19 1 0 17 0 0 0 0 1 i9 0 0 0 1 3 16
2% 1% 0 30% [ [ [ [ 4% 100% [ [ 0 1% 8% 3%
Green 9 0 1 1 2 1 0 3 0 0 9 0 0 3 2 8
1% 0 <1%  <1%  <1% _ 15% [ 5% 2% [ 100% [ [ 2% <1%|  <1% 4% 4% 1%
Gther 5 0 0 0 2 0 0 1 0. 0 [ 0 0 3 3 0 1 4
<1% [ [ 0 <i% [ 9% 2% <1% [ [ 0 0| <1%  <1%| <1%: _<i% 3%)|  <1%
Don't Know 111 13 41 12 23 2 1 7 10 0 0 111 0 57 54 94 12 5 89
14%)|  13%  18%  21% 7% 57%  23% _ 14%; _ 43% [ [ 100% 0| 14%  13%| 13% _16% _ 14%)|  16%
Which party do you currently think you'll vote for in | Base: All respondents likely 703 90 187 2 3 9 364 476
the 2015 UK general election? (excl. undecided) to vote i i (714)| (105); (152) [7a) (9) (13) (216) (515)
SNP 315 3 27 1 1 0 177 205
45% 3% 14% 23% [ 49% 43%
Labour 196 4 138 0 0 112 124
28% 5% 73% 25% 0 0 31% 26%
Conservative 107 69 8 0 0 0 35 86
15%|  77% 5% [ [ [ 10% 18%
UKIP 52 12 14 0 2 0 29 34
7% 14% 7% 0 65% 0 8% 7%
Liberal Democrats 19 1 0 0 0 0 7 16
3% 2% [ [ [ [ 2% 3%
Green 9 0 1 1 0 9 2 8
1% 0 <1% 36% 0 100% <1% 2%
Gher 5 0 0 0 0 [ 2 4
<1% [ [ 0. 12% 0 100 <1% <1%
Knowing what you know now, i the i Base: All 1000 110 251 63 360 a a 145 a1 22 118 216 29 340 70 B 12 178 29 455 545 830 90 80 664 63 245 28
referendum was tomorrow how would you vote? (1000)| (128); (208);  (83); (345);  (16): _ (12)} (135)!  (43)]  (30)| (140): (177).  (36). (353)  (65)  (13)  (16). (174).  (26)| (668). (332)| (749). (154).  (97)| (697). (141) _ (143) _ (19)]
Yes 464] 14 75 8 286 2 1 57 11 10 9 55 317 15 5 5 6. 3 189 275 417, 20, 27, 291 29 135 8|
46%)|  13%;  30%;  13%;  79%; _36%; _ 27% _ 40%; _ 26%; _ 45% 7% 26%; 28%  93% 22%  53% _ 44%; 26% _10%|  41% 50%)| 50% _ 22%;  34%)| 44%; _ 47% _ 55%; _ 29%
No 453 o1 156 52 62 2 2 56 26 6, 108 148 21 13 48 4 5 95 12 242 211 349 65 38 329 27 85 12)
a5%)|  82%;  62%  83% _ 17% _ 40% _ 57% _ 39% 4% 7% 2% 69% _ 72% A% 69% 47%  42% 53%  42%| 53% 39%)| 42%  73%  48%| 50%  42% _ 35% _ 43%
Don't know 65 5 21 2 9 1 1 22 4 0 1 12 [} 2 34 0 22 a3 56 5 4 40, 5 14 5|
6% 5% 8% 3% 2% 24%  16%  15% _ 10% [ 1% 6% 0 1a%  19% 2% 5% 8% 7% 5% 5% 6% 8% 6% 17%
Wouldn't vote 19 0 0 0 3 0 0 9 0 6| 0 0 0 [ 3 13 3 16 7 [ 11 4 2 10 3
2% [ [ 0 <1% [ [ 6% 0 27% [ [ [ [ 2% 46%| <1% 3%|  <1%  <1% 14%| <1% 3% 4% 11%
There may be a referendum in 2017 on the UK's Base: All respondents a1 118 216 B 12 178 63 245 28
membership of the European Union. If there is, which (43) (140); _ (177) (13)}  (16);  (174) (141);  (143)  (19)
way do you currently think you would vote? T'Wouid Vote to STAY IN the EU 14 36 106 8 3 60 34 97 8|
34% 31% 49% 94%;  27%; _ 34% 54%  40%
Twould vote to LEAVE the EU 18 53 71 1 4 57 14 109
44% 45%;  33% 6% 23%;  45%
Don't know 9 27 37 0 14 29
22% 23%;  17% [ 22%;  12%
Wouldn't vote 0 1 1 0 [ 5 1 10 3
[ <1%  <1% [ [ 3% <1% 4% 11%
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Base: 1,000 Total Gender Age Gender x Age How voted in 2014 Did you vote in Scotland in the 2010 UK Parliamentary Election which led to David Cameron
referendum: Should Scotland becoming Prime Minister? If so, who did you vote for?
be an independent country?
Male | Female | 16-34 { 35-54 [ 55+ |Male 18-} Male 35- (Male 55+] Female | Female | Female | Yes No i Did not |Conservai Labour { Liberal { SNP UKIP | Other | Didnot | Cant (Iwas not
34 54 18-34 | 35-54 | 55+ vote tive Democra vote iremembe eligible
ts r to vote

Total 1000 480 520 298 342 360 148 167 165 150 175 195 431 534 35 132 292 77 266 11 15 129 a1 37

(1000)|  (464);  (536)| (275). (354); (371)| (130); (167); (167); (145): (187):  (204)|  (491):  (474) (35)  (154)  (236)  (100)i  (269) (11) (25 (119) (44) (42)

100%| 100%: 100%| 100%: 100%: 100%| 100%: 100%: 100%: 100%: 100%: 100%| 100%: 100%: 100%| 100%; 100%: 100%: 100%: 100%: 100%: 100%: 100%: _100%
Would a second Scottish i be |Base: All 1000 480 520 298 342 360 148 167 165 150 175 195 431 534 35 132 292 129 a1
justified, so that Scotland wasn't forced out of the EU (1000)| (464); (536)| (275); (354); (371)| (130)! (167)) (167)) (145): (187): (204)| (491): (474). _ (35)| _(154). _(236) (119) _ (44)
against its will? Yes, it wouid be justified 452 229 223 163 158! 131 81 86, 62, 82 119 13 15 116 53 19
51%;  38% _ 54% 22%;  37%)| . 12%: __ 40% 41%:  45%
No, we should accept the UK- 414] 208 205 82 144’ 187 47 68 93 36, 338 10 111 131 51 8
wide result 41%)|  43%;  39%)| 28%  42%  52%)| 32% _ 41% _ 57% _ 24% 63%;  29%)|  84%:  45% 40%:  21%
Don't know 134] a3 o1 53 39 a2 20 14 9 33 77 12 5 45, 25 14
13% 9%  18%| 18%  12%:  12%| 14% 8% 6% 22% 14%  33% 4% 15% 19%  34%

Regardless of whether they actually stand or not, who | Base: All respondents 298 342 360 167 129 a1 37

do you think would be the best person t the vacant (275); _(354) _ (371) (167) (119);  (44)  (42)

position of leader of the Labour Party in Scotland?  [Jim Murphy MP 46 58 79 32 13 2 5

16%;  17%;  22% 19% 10% 5% 14%

Gordon Brown MP 53 57 71 29 14 4 5

18%  17% _ 20% 18% 1% 10%:  13%

Alistair Dariing MP 12 14 14 5 5 1 4 [} 1

a% a% a% a% 3% 7% 3% 0 2%

Sarah Boyack MSP 10 4 11 4 2 1 o [ 2

3% 1% 3% 3% 1% 9% 0 0 a%

Neil Findiay MSP 6 3 10 4 3 [ [ 0 0

2% 2% 3% 3% 2% 1% 0 0 <1%

Douglas Alexander MP 3 7 10 1 3 o o o 0

<1% 2% 3%)|  <1% 2% 0 0 0 0

Kezia Dugdaie MSP 7 6 6 6 3 0 1 0 0

2% 2% 2% a% 3% 0 <1% 0 . <1%

Anas Sarwar MP 4 3 9 2 2 0 1 [} 0

1% <1% 3% 2% 1% 0 <1%  <1% 0

Margaret Curran MP 1 5 3 1 3 0 [} 2 0

<1% 1% <1%)|  <1% 2% [ (] 5% [

Tan Davidson MP 0 4 1 0 0 0 1 [} 0

0 1% <1% 0 [ 0 <1% [ 0

Someone else 15 3 13 10 4 2 3 2 2

5% 2% 4% 7% 2% 12% 5% 6% 6%

Don't know/don't care 141 172 133 54 77 7 89, 30 22

47% __50% _ 37%| 37% _ 46% 46% _ 69% _ 73% _ 59%
Broadly speaking, do you agree or disagree with the | Base: All respondents 1000 480 520 298 342 360 148 167 15 129 a1
following about the between (1000)| (464); (536)| (275); (354); (371)| (130): (167) (25); (119);  (44)
the Scottish and UK Parliaments? ...The leader of any [Agree 608 320 287] 176 189 233 95 107/ 7 74 17
party represented in the Scottish Parliament should 61%| 67%  55%| 59% _58% _ 65%)| _ 64% _ 64% 48%  58% _ 41%
always be an MSP, not a Westminster MP Disagree 203 106 98 60 69 74] 35 38 1 16 8
20%)|  22%:  19%)|  20% 0%, 1%| 23%:  23% 6% _ 12%  20%
Don't know 189 54 135 62 74 53 18 22 7 39 16
19%|  11%:  26%| 21%  22%;  15%| 12%;  13% 46%  30%  39%
Broadly speaking, do you agree or disagree with the | Base: All respondents 1000 480 298 342 360 148 167 129 a1
following etween (1000)| _ (464) (275); _(354). (371)| (130) (167) (119)  (44)
the Scottish and UK Parliaments? ...The Scottish Agree 675 325 182 247, 246| 95 118’ 83 21
Parliament should have the power to make any 72% 64%;  71% 64%;  51%
Westminster MP representing a Scottish seat appear [Disagree 35 36 61 26 26 8 1
in front of its committees. 13%|  18% 12%  10% _ 17%| 18% _ 16% 7% 205
Don't know 193 70 81 59 54 27, 23 38 19
19%|  15% 27%  17%: 15%| 18% 14% 20%;  47%

10/11/2014
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Base: 1,000 Total Did you vote in Scotland in the 2011 Scottish Parliamentary Election? If so, who did you Which party do you currently think you'll vote for in the 2015 UK general election? Socio-economic Where were you born? Ts the home you live in..
vote for with your constituency vote? grade
Conserva! Labour | Liberal | SNP | Greens | Other | Did not | Can't Not |Conservai Labour  Liberal { SNP UKIP | Green | Other | Dom't | Won't | ABCl | C2DE |Scotland England | All | Owned/: Rented ; Rented { Other
tive Democra vote iremembe: eligible | tive Democra Know | vote others | being : froma : from
ts r to vote ts combine | bought ; private { local
ona | landlord | authority
Total 1000 110 251 63 360 4 4 145 a1 22 118 216 29 340 70 9 12 178 29 455 545 830 90, 80| 664 63 245 28
(1000)[  (128);  (208) (83)  (345) (16) (12)i  (135) (43) (30)| (140);  (177) (36);  (353) (65) (13) (16);  (174) (26)|  (668);  (332)| (749)  (154) (97 (6971 (141);  (143) (19)
100%| 100%: 100%: 100%: 100%: 100%: 100%: 100%: 100%: 100%| 100% 100% 100%: 100%: 100%: 100%: 100%: 100%: 100%| 100%: 100%| 100%: 100% 100%| 100% 100% 100% _100%|
Would a second Scottish i be |Base: All 1000 110 251 63 360 a a 145 a1 22 118 216 29 340 70 9 12 178 29 as5 545 830 90 80 664, 63 245 28
justified, so that Scotland wasn't forced out of the EU (1000)| (128); (208):  (83): (345); _ (16):  (12): (135);  (43);  (30)| (140): (177);  (36): (353); _ (65):  (13): _ (16); (174);  (26)| (668): (332)| (749): (154); _ (97)| (697): (141); (143); _ (19)
against its will? Yes, it wouid be justified 452 13 82 13 243 2 1 15 12 74 10; 261 16, 5 5 58, 10| 190 262, 391 25 36 281 29 127 14]
45%|  12%  33% _20% _68%: _ 49% _ 27% 67%|  10%;  34%;: _ 35%: _ 77%; _ 23%; _ 58%: _ 43% 47%;  28%; _ 45%| _42%: _ 47% _ 52% __ 51%
No, we should accept the UK- 414] 89 125 a1 82 1 3 4 99 107 17 44 53 4 5 325 56 32 306 23 79 6|
wide result 41%]|  81% _ 50%  66% 23% _ 30% _ 67% _ 35% _ 43% _ 17%| 84% _ 50%: _ 58%:  13%: _ 77%: __ 40%: _ 44% 39%: 62%  40%)| 46%:  36%:  32% _ 21%
Don't know 134 8 44 9 35 1 0 27 8 4 7 34 2 35 [} [} 2 113 9 12 76 11 39, 8|
13% 7% 17%;  14%;  10%;  20% 7% 19%  18%  16% 6% 16% 7% 10% [ 3% 14% 14%.  10% 15%| 12% 17%. 16%; 28%
Regardless of whether they actually stand or not, who | Base: All respondents 110 360 4 4 118 216 9 12 830 90 245
do you think would be the best person t the vacant (345).  (16).  (12) (140) (13). _(16) (749): _ (154) (143)
position of leader of the Labour Party in Scotland?  [Jim Murphy MP. 52 0 1 38 [ 1 160 17 43
14%;  10%;  13% 32% 0 8% 19%;  18% 18%
Gordon Brown MP 43 1 2 2 19 2 2 148 18 42
_____ 12% 6% 35% 0%)|  16% 9% 19% 18%:  20% 17%
Alistair Dariing MP 39 7 11 5 9 0 0 1 7 1 1 0 31 5 7
4% 6% 4% 8% 3% 0 9% a% 6% 14% 5% 0 a% 6% 3%
Sarah Boyack MSP 25 1 1 2 18 0 0 2 2 5 0 14 0 1 [ 1 18 3 2
2% 1% <1% 3% 5% 5% 0 9% 1% 3% 0 a% 0 15% 0 <1% a% 3% 2% 2% 3% <1%
Neil Findiay MSP 2 2 4 2 13 0 0 0 2 4 2 13 3 [ [} 1 0 12 10 17 4 4
2% 2% 2% 4% 4% 0 5% 1% 2% 2% 8% % <1% 0 2% <1% 0 3% 2% 2% a% 2%
Douglas Alexander MP 20 5 4 2 7 0 0 0 9 3 0 3 0 1 [} 3 0 17 3 15 3 o
2% 5% 2% 4% 2% [ 0 0 7%, 1% 0 1% <1%  15% 0 2% 0 A% <1% 2% 3% 0
Kezia Dugdaie MSP 19 0 5 6 6 0 0 0 4 3 4 5 0 1 1 1 0 7 12 17 2 4
2% [} 2% ... 10%, 2% () 0 0 3% 1%; . 15% 2% 0. ..15% 7%, <1%, (] 2% 2% 2% 2% 2%
Anas Sarwar MP 16 0 3 2 10 0 0 0 0 3 2 11 0 0 [} [} 0 6 11 16 [} 6
2% [ 1% 3% 3% 9% 0 o] <1% 2% 6% 3% 0 2% 0 <1% 0 1% 2% 2% <1% 2%
Margaret Curran MP 8 1 2 2 2 0 0 0 1 2 1 3 1 [} [} 1 0 4 4 6 1 [}
<1%)|  <1%:  <1% 3% <1% 0 0 0|  <1%:  <1% 2% <1% 2% 0 0 <1% 0| . <1%  <1%)| <1%  <1% 0
Tan Davidson MP 5 0 3 0 1 0 0 0 0 3 0 2 1 0 [} 0 0 1 4 5 [ [}
<1% [ 1% 0 <1% [ 0 0 [ 1% 0 <1%  <1% 0 [ 0 o <1%  <1%| <1% 0 0 10%
Someone else 34 1 5 1 16 0 0 0 [} 5 1 21 1 [ 3 4 1 17 18 32 1 7 0|
3%)| .. <1% 2% 1% 5% 5% 0 0 [} 2% 3% 6%, 1% 0. ..22% 2% 2% 4% 3% 4%; . <1% 3% of
Don't know/don't care 446 35 69 13 183 2 2 15 37 44 7 188 30 2 5 109 23 170 276 364 37 129 15|
45%)| 32%:  28%  20% _ 51% _ 56% _ 38% 66%| 32% 21% _25% _ 55% _ 44% _ 19% _ 37% _ 61% _ 80%| 37% _ 51%| 44% _ 42% 53% _ 53%
Broadly speaking, do you agree or disagree with the | Base: All respondents 1000 110 251 63 360 a a 145 a1 22 118 216 29 340 70 9 12 178 29 455 545 830 90 80 664 63 245 28|
following about the between (1000)| (128); (208):  (83): (345): _ (16):  (12)i (135);  (43);  (30)| (140): (177);  (36): (353); _ (65):  (13): _ (16); (174);  (26)| (668): (332)| (749): (154); _ (97)| (697): (141); (143); _ (19)
the Scottish and UK Parliaments? ...The leader of any |Agree 608 60 131 33 272 2 3 74 18 15 60 102 16 276 40, 5 7 90 11 267 341 513 50 45, 390 38 163 16
party represented in the Scottish Parliament should 61%)|  54%:  52%:  52%:  76%;. _47%; _ 77%; _ 51%: _43% _66%)| 51%. _48% _56% _ 81% _ 58% _ 53% _ 58% _ 50% _ 39%)| _59% _ 63%| _62% _ 55%. _56%| _59% _ 61% _ 67% __ 58%
always be an MSP, not a Westminster MP Disagree 203 34 77 16 44 0 1 22 6 5 39 70 8 30 17 2 1 30, 6 117 86 164 21 18] 151 11 39 2|
20%|  31%:  30%:  25% 2% 0 16%:  15%:  16%:  20%)| 33% _ 32% _ 29% 9% 24% _ 20% 6% 17%  22%| 26% _ 16%| 20%:  24%:  22%| 23%:  17%:  16% 8%
Don't know 189 17, 43 14; a4 2 0 49 17, 3 19; 43 4 33 12; 2 4 59, 11 71 118 152 19 17, 123 14 43 10|
19%)| 15%:  17%;  23%.  12%  53% 7% 34%  41%  13%| 16%  20%  15%  10% _ 18%  27%  37% _ 33%  39%| 16% 22%| 18% 21% 22%| 18%  22% _ 17% _ 34%
Broadly speaking, do you agree or disagree with the | Base: All respondents 1000 110 251 63 360 63 245
following etween (1000)|  (128): (208): _ (83): (345) (141)  (143)
the Scottish and UK Parliaments? ...The Scottish Agree 675 57 141 a1 301 40 179
Parliament should have the power to make any 84% 64% 73%
Westminster MP representing a Scottish seat appear [Disagree 25 9 24
in front of its committees. 13%|  31%  18%  19% 7%, 15%  10%
Don't know 193 19 64, 10 34 14 42
19%)| 17%: 26%:  16% 9% 2% 17%

ranelbase.com
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Base: 1,000 Total Gender Age Gender x Age How voted in 2014 Did you vote in Scotland in the 2010 UK Parliamentary Election which led to David Cameron
referendum: Should Scotland becoming Prime Minister? If so, who did you vote for?
be an independent country?
Male | Female | 16-34 { 35-54 [ 55+ |Male 18-} Male 35- (Male 55+] Female | Female | Female | Yes No i Did not |Conservai Labour { Liberal { SNP UKIP | Other | Didnot | Cant (Iwas not
34 54 18-34 | 35-54 | 55+ vote tive Democra vote iremembe eligible
ts r to vote
Total 1000 480 520 298 342 360 148 167 165 150 175 195 431 534 35 132 292 77 266 11 15 129 a1 37
(1000)[  (464))  (536)| (275)] (354)) (371)| (130); (167); (167); (145); (187); (204)| (491);  (474) (35)|  (154))  (236)]  (100);  (269) (11) (25 (119) (44) (42)
100%| 100%: 100%| 100%: 100%: 100%| 100%: 100%: 100%: 100%: 100%: 100%| 100%: 100%: 100%| 100%; 100%: 100%: 100%: 100%: 100%: 100%: 100%: _100%
Broadly speaking, do you agree or disagree with the | Base: All respondents 1000 480 520 298 342 360 148 167 165 150 175 195 431 534 35 132 292 a1 37
following about the between (1000)| (464): (536)| (275): (354); (371)| (130): (167): (167); (145): (187); (204)| (491): (474); _ (35)| (154) (44)  (42)
the Scottish and UK Parliaments? ...Any package of  [Agree 735 363 372 207 248 280 110 124 128 97 124 152 366 352 17, 75 20, 32
further devolution proposed by the UK government 74%)|  76%;  72%)| _ 70%; _ 72%; _ 78%)| _ 75%; _ 74%. _78% _ 65%. _71% __ 78% 49%;  84%
should be subject to the approval of the Scottish Disagree 130 72 59 36, 43 51 23 26, 23 13 17 28 4 3
Parliament. 13% 15% 11% 12% 13% 14% 15% 16% 14% 9%, 10% 15% 6%, 11% 7%,
Don't know 135 6. 89 55 51 29 15 17 14 40, 34 15 40, 17 3
13%)|  10%;  17%)| 18%;  15% 8%| 10%  10% 8%  27%  19% 8% 9% 40% 8%

Broadly speaking, do you agree or disagree with the
following a between

Base: All respondents

people in a referendum.

the Scottish and UK Parliaments? ...Any package of Agree

further devolution proposed by the UK government

should be subject to the approval of the Scottish Disagree
Don't know

Broadly speaking, do you agree or disagree with the

Base: All respondents

a1 37
following about the between (44) (42)
the Scottish and UK Parliaments? ...The Scottish Agree 22 28
Parliament should control ALL revenues raised in 54%......74%,
Scotland, including North Sea oil, and then pay a lump|Disagree 5 4]
sum to Westminster for shared UK services, rather 1% 11%
than receiving a lump sum to pay for devolved Don't know 14 6
services. 35%  15%
Broadly speaking, do you agree or disagree with the | Base: All respondents a1 37
following al between | o l.(1000) (464). (536)| (275). (354). _(371)| (130). (167). (167) (145). (187). (204)| (491) (474) _ (35 (44) (42)
the Scottish and UK Parliaments? ...Any domestic bill [Agree 18 27
(ie not relating to defence or foreign affairs) passed at 4a3%  72%
Westminster affecting Scotland should only be Disagree 7 5
implemented in Scotland if it commands a majority of 16%:  12%
Scottish MPs. Don't know 17 6

40% 16%

Broadly speaking, do you agree or disagree with the | Base: All respondents 1000 480 520 298 342 360 148 167 165 150 175 195 431 534 35 132 292 77 266 11 15 129 a1 37
following about the between (1000)| (464): (536)| (275); (354); (371)| (130) (167). (167). (145). (187): (204)| (491): (474) (35)| (154); (236) (100): _(269) (11) (25);  (119) (44) (42)
the Scottish and UK Parliaments? ...The Scottish Agree 512 255 257 158 175 180 83 88 84/ 75 87 95 350 147 16 29 132 30 217 7 7 59 13 19
Parliament should have the legal authority to hold a 51% 53% 49% 53% 51% 50% 56% 53% 51% 50% 50%. 49% 81% 28% 46% 22% 45% 39% 82% 66% 46% 46% 31% 51%
referendum on any subject without requiring the Disagree 340 168 173 79 117 144 44, 56 67 35 60 77 43 293 4 95 113 31 29 4 6 39 13 9
permission of the UK government. 4%)|  35%  33% 7% 34%  40% 0% 34%  41%  23%  35%  39%| 10% _ 55% _ 12% 2%  39%:  41%  11%  34%  39%  31% _ 31% _ 25%
Don't know 148 57 90 60 51 36 21 23 13 39 28 23 39 94! 15 8 47 16 19 0 2 31 15 9

15% 12% 17% 20% 15% 10% 14% 14% 8% 26% 16% 12% 9% 18% 42% 6% 16% 20% 7% [} 15% 24% 38% 24%

10/11/2014

ranelbase.com



JIN:F6356v2

Base: 1,000 Total Did you vote in Scotland in the 2011 Scottish Parliamentary Election? If so, who did you Which party do you currently think you'll vote for in the 2015 UK general election? Socio-economic Where were you born? Ts the home you live in..
vote for with your constituency vote? grade
Conserva! Labour | Liberal | SNP | Greens | Other | Did not | Can't Not |Conservai Labour  Liberal { SNP UKIP | Green | Other | Dom't | Won't | ABCl | C2DE |Scotland England | All | Owned/: Rented ; Rented { Other
tive Democra vote iremembe: eligible | tive Democra Know | vote others | being : froma : from
ts r to vote ts combine | bought ; private { local
ona | landlord | authority

Total 1000 110 251 63 360 4 4 145 a1 22 118 216 29 340 70 9 12 178 29 455 545 830 90, 80| 664 63 245 28

(1000)[  (128);  (208) (83)  (345) (16) (12)i  (135) (43) (30)| (140);  (177) (36);  (353) (65) (13) (16);  (174) (26)|  (668);  (332)| (749)  (154) (97 (6971 (141);  (143) (19)

100%| 100%: 100%: 100%: 100%: 100%: 100%: 100%: 100%: 100%| 100% 100% 100%: 100%: 100%: 100%: 100%: 100%: 100%| 100%: 100%| 100%: 100% 100%| 100% 100% 100% _100%|

Broadly speaking, do you agree or disagree with the | Base: All respondents 1000 110 251 63 360 a a 145 a1 22 118 216 29 340 70 9 12 178 29 as5 545 830 90 80 664, 63 245 28
following about the between (1000)| (128); (208);  (83): (345): _ (16):  (12)i (135);  (43);  (30)| (140): (177);  (36): (353); _ (65):  (13): _ (16); (174);  (26)| (668); (332)| (749)
the Scottish and UK Parliaments? ...Any package of  [Agree 735 63 165 50 315 3 3 93 24 19] 66 138 24 303 50, 9 6 122 17, 324 412] 622
further devolution proposed by the UK government 74%)|  57%; _ 66%;: _ 79%; _ 88%;: _ 73%; _ 76%; _64%;. _58%. _88%)| 56%. _64%. _ 83%. _ 89% _ 71% __ 97% 71%; . 76%) . 75%
should be subject to the approval of the Scottish Disagree 130 36 43 9 17 1 1 17 3 2 43 44 4 13 7 0 83 47| 93
Parliament. 13% 33% 17% 15% 5% 12% 17%. 12% 9%, 11% 37% 20% 15% 4% 11% 0 18% 9%, 11%
Don't know 135 11 a3 3 27 1 0 35 14; 0 9 33 1 24 13 [} a8 86 115
13%|  10%;  17% 6% 8%  16% 7% 24%  34% 1% 8%  15% 2% 7% 18% 3% 11%;  16%| 14%

Broadly speaking, do you agree or disagree with the | Base: All respondents 245 28

following a between (143).  (19)

the Scottish and UK Parliaments? ...Any package of  [Agree 151 14|

further devolution proposed by the UK government 62%;  51%

should be subject to the approval of the Scottish Disagree 42 2

people in a referendum. 31% 51% 17%. 8%

Don't know 198] 9 52 12

20%)| 13%:  25%  14% 21%  43%

Broadly speaking, do you agree or disagree with the | Base: All respondents 1000 110 251 63 360 245 28

following about the between (1000)|  (128); (208);  (83): (345) (143);  (19)

the Scottish and UK Parliaments? ...The Scottish Agree 623 29 133 27 303 175 12|

Parliament should control ALL revenues raised in 62%)|  26%;  53%. _ 44% __ 84% 72%; .. 44%

Scotland, including North Sea oil, and then pay a lump|Disagree 239 63 81 23 28 38 3

sum to Westminster for shared UK services, rather 24%|  57%  32%  37% 8% 16%  10%

than receiving a lump sum to pay for devolved Don't know 138 18’ 37 12 28 31 13

services. 14%)|  16%;  15%;  19% 8% 13%;  46%

Broadly speaking, do you agree or disagree with the | Base: All respondents 360 245 28

following al between (345) (143);  (19)

the Scottish and UK Parliaments? ...Any domestic bill [Agree 287 178 14|

(ie not relating to defence or foreign affairs) passed at 80% 73%;...51%

Westminster affecting Scotland should only be Disagree a1 21 3

implemented in Scotland if it commands a majority of 12% 9% 10%.

Scottish MPs. Don't know 31 45 11

9% 18%.  38%

Broadly speaking, do you agree or disagree with the | Base: All respondents 1000 110 251 63 360 a a 145 a1 22 118 216 29 340 70 9 12 178 29 455 545 830 90 80 664 63 245 28

following about the between (1000)| (128); (208):  (83): (345); _ (16):  (12)i (135);  (43);  (30)| (140): (177);  (36); (353); _ (65):  (13): _ (16); (174);  (26)| (668): (332)| (749): (154); _ (97)| (697): (141); (143); _ (19)

the Scottish and UK Parliaments? ...The Scottish Agree 512 17 100 13 279 2 1 67 16, 17, 21 79 9 287 23 8 6 69, 12 206 307 443 31 38 310 29 161 13

Parliament should have the legal authority to hold a 51%)|  15%:  40%:  21%  78%;  54%; _ 27%; _ 46%: _40%; _75%)| _18% _36%. _31% _ 84% _ 33% _ 86% _ 48% _ 39% __40%)| _45% _ 56%| _53% _34%: _ 48%| _47% _ 46% _ 66% __ 45%

referendum on any subject without requiring the Disagree 340 84 109 34 47 1 3 45 14, 4 86 96 15 25 44 1 5 63 5 200 140| 259 50 31 265 20 47, 9|

permission of the UK government 4% 6% 44% 5%;  13% 0% 62%:  31% _ 34% 7%| 73% _ 44% 3%, 7% 3% 2%  42%: 35%:  18%)| 44%:  26%)| 31%; 55% _ 39%| 40%:  31% _ 19% _ 30%]

Don't know 148 10 42 15 34 1 0 33 11 2 11 a1 4 28 3 [} 1 47 12 49 98 128 9 10, 89 14 37, 7

15% 9% 17%  24% 9% 16%  11%  23%  26% 8% 9%  19%  15% 8% 4% 3%  10%  26%  42%| 11%  18%| 15%  10%  13%| 13%  22%  15% _ 24%
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